Why do investors buy securities on margin?

Current share price = $100

Share price one year later = $70, $100, and $130 with equal prob. = 1/3

No margin account (buy 100 shares with cash)

Expected profit = (1/3)(7,000 – 10,000) + (1/3)(10,000 – 10,000) + (1/3)(13,000 – 10,000) = (1/3)(-3,000) + (1/3)(0) + (1/3)(3,000) = $0

Expected return = (1/3)(-30%) + (1/3)(0%) + (1/3)(30%) = 0%

50% margin (borrow $10,000 at 9% interest rate and buy 200 shares)

Expected profit = (1/3)(14,000 –20,900) + (1/3)(20,000 – 20,900) + (1/3)(26,000 – 20,900) = -900

Expected return = (1/3)[(14,000 – 20,900)/10,000] + (1/3)[(20,000 – 20,900)/10,000] + (1/3)[(26,000 – 20,900)/10,000]

= (1/3)(–69%) + (1/3)(-9%) + (1/3)(51%) = -9%

